
 

I.K.	
  Wyn	
  en	
  Wetter	
  –	
  Seizoen	
  2	
  –	
  ôflevering	
  5	
  
	
  
	
  
	
  

1. Binne	
  ûndersteande	
  sinnen	
  wier	
  of	
  net	
  wier?	
  
	
  

-­‐ Jildou	
  drinkt	
  tee	
  by	
  it	
  moarnsiten.	
   	
   	
   Wier	
  /	
  net	
  wier	
  	
  
-­‐ Rutger	
  hat	
  sin	
  om	
  nei	
  hûs	
  ta	
  te	
  gean.	
  	
   	
   Wier	
  /	
  net	
  wier	
   	
  
-­‐ It	
  grutte	
  jacht	
  hat	
  de	
  namme	
  ‘Wietske’.	
   	
   Wier	
  /	
  net	
  wier	
  
-­‐ Lieke	
  en	
  Rutger	
  tútsje	
  mei	
  elkoar.	
   	
   	
   Wier	
  /	
  net	
  wier	
  
-­‐ Jildou	
  har	
  broerke	
  hat	
  read	
  hier.	
   	
   	
   Wier	
  /	
  net	
  wier	
  
-­‐ De	
  eigener	
  fan	
  it	
  jacht	
  rookt.	
  	
   	
   	
   Wier	
  /	
  net	
  wier	
  

	
  
	
  

2. Yn	
  dizze	
  ôflevering	
  sjochst	
  in	
  pear	
  bysûndere	
  kamerastânpunten.	
  Neam	
  der	
  ien.	
  	
  
	
  
	
   -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  
	
   -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  
	
  

3. Set	
  it	
  bypassende	
  personaazje	
  út	
  I.K.	
  achter	
  de	
  goede	
  sin.	
  Kies	
  út:	
  Rutger,	
  Jildou,	
  
Michaël,	
  Jeroen,	
  Lieke,	
  de	
  eigener	
  fan	
  it	
  jacht.	
  

	
  
-­‐ Hat	
  âlders	
  dy’t	
  krekt	
  skieden	
  binne	
  	
   	
   	
   ...........................	
  
-­‐ Keapet	
  famkes	
  mei	
  kado’s	
   	
   	
   	
   ...........................	
  
-­‐ Hat	
  troud	
  west,	
  mar	
  is	
  nei	
  twa	
  jier	
  skieden	
   	
   ...........................	
  
-­‐ Hâldt	
  net	
  fan	
  teloarstellings	
   	
   	
   	
   ...........................	
  
-­‐ Is	
  fereale	
  op	
  Lieke	
  	
   	
   	
   	
   	
   ...........................	
  
-­‐ Hat	
  in	
  filmke	
  makke	
  fan	
  Jildou	
   	
   	
   	
   ...........................	
  

	
  
	
  

4. Watfoar	
  wize	
  ried	
  krijt	
  Jildou	
  fan	
  har	
  mem	
  mei?	
  
	
  
	
   -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  
	
   -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  
	
   -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  
	
  

5. Betink	
  in	
  passende	
  titel	
  foar	
  dizze	
  ôflevering.	
  	
  
	
  
	
   -­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐-­‐	
  
	
  
	
  
	
  


